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Aptitude Test for
Lateral Entry in Engineering
(Diploma Holders)

(Q. 1 to Q. 100)

001. A train 150 meters long, is running at | 001, 150 HeX &l Uk 9 72 fordi/=e & TR
72 km/hour. Find the time taken to pass a T 9d W@ 3 71 R wiewd W wE
man standing on a platform 3TeHT &l I & § I8 Tohaar g9g oft.

(A) 7.5 sec (B) 20 sec (A) 7.59%8  (B) 20T%hs
(C) 30 sec (D) 35sec (C) 30"%Hs (D) 35%hs

002. What percentage of 80 is 240% of 30: 002. 80 <h1 Tepa gfasrd 30 =1 240% &7
(A) 60 (B) 90 (A) 60 (B) 90
(C) 72 (D) 100 (C) 72 (D) 100

8-AA | (2] [ Contd...
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003. If Umesh salary is 20% less than Rakesh’s | 003, 3fe 38w <1 97 Teher & 9a9 & 20% HH 7, z:f
salary, by what percentage Rakesh’s salary is al TRl 1 Ja4 3031 & daq4 & Foraa gfasa E':::'
more than Umesh’s salary? a7fere 27 E:E
(A) 20% (B)  22% (A) 20% (B) 22% E
(© 25% D) 27% © 25% D) 27% e
004. Ifa:b=5:6and b:c=7:9 find a:c 004. Ifc ab = 5:6 9T b:ec = 7:9 dl a:c T HH
(A) 35:54 (B) 54:35 ferrferu|
(C) 17:19 (D) 15:14 (A) 35:54 (B) 54:35
(©) 17:19 (D) 15:14
005. If LCM of two numbers is 750 and their | go5. 3fe @1 et & A qaT99d 750 2 3
product is 18750, find the HCF of the 3T UHERA 18750 2, a1 9EInsTt & HgaH
numbers. qaT9acd Hd Hifau|
(A) 50 (B) 30 (A) 50 (B) 30
(C) 125 (D) 25 (C) 125 (D) 25
006. In a class of 60 students, 25 students play | 006. 60 faenfef <hr v wem § 25 fommeff frehe,
cricket and 20 students play tennis, and 10 20 famneff 2fm 3t 10 fammeff o1 & @
students play both the games. Then, the Tod &, df el 3 I <his ft 9o T8 @od
number of students who play neither is: g faenfeh <6 ge=-
(A) 0 (B) 25 (A) 0 (B) 25
(C) 35 (D) 45 (C) 35 (D) 45
007. Domain of V&’ —x* (a>0) is: 007. Ja’—x* (a>0)h1 T4 2|
(A) (—a,a) B) [~a,d] (A) (—a,a) (B) [-a,d]
(C) [0, d] (D) (—a,0] (C) [0, a] (D) (—a,0]
008. The minimum value of 3 cosx +4sinx +81s: | 008. 3 cosx + 4 sinx + 8 &l =Adq 7 =
(A) 5 B) 9 (A) 5 B) 9
©) 7 (D) 3 (C) 7 (D) 3
8-AA | [3] | P.T.O.

gcollegeduniaﬁ

]



3

:53; 009. The value of cos 12° + cos 84° +cos 156° + | 009. cos 12° + cos 84° + cos 156° + cos 132° &Rl
% cos 132° is: o 2|
i (A) 172 B) 1 A) 172 B) |
= (©) -172 (D) 18 ©) -172 D) 18
E::‘::E' 010. The longest side of a triangle is twice the | ¢10. foeh ﬁ'ﬂﬁl +I gad EEl st Hed Bl Sl
) shortest side and the third side is 2cm longer 4 gl g TE dEd e ged B gen 4
than the shortest side. If the perimeter of the 2 ot srferss 71 Afg fys &1 afwm 166 &t
triangle is more than 166 cm then find the g fYes g dl gad BIl Yol hl =aH BaTg
minimum length of the shortest side. 3Td hifsg)
(A) 41 (B) 40 (A) 41 (B) 40
(©) 51 (D) 39 (C) 51 (D) 39
011. In a class, there are 27 boys and 14 girls. | ¢11. et amd 27 argé; 3T 14@%—7&?% foreft
The teacher wants to select 1 boy and 1 FRIHH & U, e 1 gfdaHfeea w3 & fou
girl to represent the class for a function. In f3r87eR Rl 1 Feeh 3T 1 Bechl & TS T
how many ways can the teacher make this I1=dT &l e I8 SRl fehdd YR § &
selection? Hhdl 27
(A) 370 (B) 372 (A) 370 (B) 372
(C) 378 (D) 390 (C) 378 (D) 390
012. A student has to answer 10 questions, | 12, ferelt faemeff sv1 10 9991 & I 4 %, el
choosing atleast 4 from each of Parts A and I YR YT A R BE T S5 4 &+ 4 994
B. If there are 6 questions in Part A and 7 in ﬂ:ﬁ% A YT AT OUTH E AU BH 7
Part B, in how many ways can the student 99 &, i ag foemeff fohaa spr & 10 w99 T4
choose 10 questions ? Hhdl 27
(A) 206 (B) 222 (A) 206 (B) 222
(C) 256 (D) 266 (C) 256 (D) 266
8-AA | [4] [ Contd...
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013.  The total number of terms in the expansion of | 013, (x+4a)’! - (x— )’ & JHR § TS 6 &1 E-'z'f
(x + a)’! — (x — @)*! after simplification is: ual & T 2 E':::'
(A) 102 (B) 25 (A) 102 B) 25 o
(©) 26 (D) None of these ©) 26 (D) None of these 5
014.  Ifthe coefficients of 2", 3™ and the 4™ terms | 014, =f2 (1 + x)" % wow § TR, AR 3 NI @ s
in the expansion of (1 + x)" are in A.P., then o T[0T TaTaL Joft | &, I n 1 AH &:
value of n 1s: (A) 5 (B) 7
(A) 5 (B) 7 (C) 11 (D) 14
(C) 11 (D) 14
015.  InaG.P. of even number of terms, the sum of | (15, wes ur=R 2oft 4 ugi <t T ow 3| Afg ot
all terms is 5 times the sum of the odd terms. qel 1IN fasg 9el & A &1 5 T 2,
The common ratio of the G.P. is: Tﬁﬂ'{ Auft .Hm‘iauqm 3
(A) —4/5 (B) 1/5 (A) —4/5 (B) 1/5
(C) 4 (D)  None of these (C) 4 (D) None of these
016. The lengths of three unequal edges of a | ¢16. Fohel % 3 AR @ & d+F 39aH
rectangular solid block are in G.P. The fopml b1 Fere Trhﬁ-{ guft 4 2| 3T Sehel
volume of the block is 216 cm3 and the total o W 1 A4 216 °4 gHt ud Xy \Igﬁ'q
surface area is 252 cm?. The length of the AT%S 252 9 9T 3| o 998 Bd TR hi
longest edge is: KEIREA
(A) 12 cm (B) 6c¢m (A) 12 cm (B) 6cm
(C) 18cm (D) 3cm (C) 18 cm (D) 3cm
017.  The intercept cut off by a line from y-axis | 17, fFet @ g p-3181 9 HRT T 3G Ts,
is twice than that from x-axis, and the line AT WHRE T 37d: @ U Eﬁ'ﬂ‘.ﬂ 2 3R I8
passes through the point (1, 2). The equation eIl ﬁg (1,2) ¥ STt 81 df {@T o1 THieR
of the line is: =
(A) 2x+y=4 (B) 2x+y+4=0 (A) 2x+y=4 (B) 2x+y+4=0
C) 2x—y=4 (D) 2x—y+4=0 (C) 2x—y=4 (D) 2x—y+4=0
8-AA | [5] | P.T.O.
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018.  Equations of diagonals of the square formed | 018, ¥@rRTix=0,y=0,x=11d y= 1 grr Ffifa =i
by the linesx=0,y=0,x=1 and y =1 are: o faerurt o5 gt 2:
(A) y=x,y+tx=1 (A) y=x,y+x=1
(B) y=x,xty=2 (B) y=x,x+y=2
©) y=xy+x=1/3 (C) y=x,y+x=1/3
(D) y=2x,y+2x=1 (D) y=2x,y+2x=1
019. The perpendicular distance of the point | ¢19. ﬁg P (6,7, 8) <l xy - 05 P} QI=CLY q"[ 2
P (6, 7, 8) from xy — plane is: (A) 8 (B) 7
(A) 8 B) 7 (C) 6 (D) None of these
(C) 6 (D) None of these
020. il_l}l% % is: 020. il?% % T A &
(A) 3 B) 1 (A) 3 (B) 1
(©) 0 D) V2 (C) 0 D) V2
021. If}*=%thﬂni—i 021. aﬁy=%aﬁx=om% &1 TH =
atx=0is (A) cos9 (B) sin9
(A) cos 9 (B) sin9 (C) 0 (D) 1
(C) 0 (D) 1
022.  The converse of the statement “If sun is not | 22. wHem “‘afe T F& =@F w1 2, @ AW
shining, then sky is filled with clouds™ is: dee O 9O (stremiea) 21" =1 faom H9q
(A) If sky 1s filled with clouds, then the sun 2
is not shining. (A) I TSI dESl & 9 7, ol T &l
(B) If sun 1s shining, then sky is filled with 9 @7 2|
clouds. (B) afc ¥ = &1 7, dl ATV FEe! |
(C) If sky is clear, then sun is shining. T 2|
(D) If sun is not shining, then sky is not (C) Ife 3T 9TF 2, Gl ;Ei I9% &l 2|
filled with clouds. (D) afe ;La‘ T8 =0 W1 3, A1 IR Seo
RG]
8-AA | [6] [ Contd...
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023.  Coefficient of variation of two distributions | (23, 2 sedi & fa=ror s 50 wa 60 7 3R z:f
are 50 and 60, and their arithmetic means are &% HIET A 30 T 25 &, A 37 HIEH E':::'
30 and 25 respectively. Difference of their ICERCICIRE: oS %E
standard deviation is: (A) 0 (B) 1 ﬁ
(A) 0 ®) | © 15 D) 2.5 i
(C) 1.5 (D) 25 E*E*E
024. If the marks obtained by 9 students in a | 24, 3fe 7forg & wes exe 4 9 foenfsi=i gro umw 37k
mathematics test are: 50, 69, 20, 33, 53, 39, fr=fefaa 2: 50, 69, 20, 33, 53, 39, 40, 65,
40, 65, 59. Then the mean deviation from the 59 dI Ul o fou Arfeden @ qrea fames
median is: 2 |
(A) 9 (B) 105 (A) 9 (B) 10.5
(C) 12.67 (D) 14.76 (C) 12.67 (D) 14.76
025. If A and B are mutually exclusive events, | (25, 3f¢ gea1@ A 99T B WER {99 &, i
then: (A) P(A)<P(B) (B) P(A)>P(B)
(A) P(A)<P(B) (B) P(A)>P(B) (C) P(A)<P(B) (D) None of these
(C) P(A)<P(B) (D) None of these
026. If A, B, C are three mutually exclusive and | (26, =fe A, B, ¢ et wfieor & 7 9w
exhaustive events of an experiment such that gt 3 4.3 gead 3@ ysw & fh
3P(A) = 2P(B) = P(C), then P(A) is equal to: 3P(A) = 2P(B) = P(C), af P(A) f=fafea #
(A) 1/11 (B) 2/11 ¥ fora & TumM 2:
(C) 511 (D) 6/11 (A) 1/11 (B) 2/11
(C) 5/11 (D) 6/11
027.  Without repetition of the numbers, four-digit | 27, 3&i 0, 2, 3, 5 @, foa1 TR e, ar
numbers are formed with the numbers 0, 2, 3, 3ol hl HEATE 918 ATdl Bl 36 THRK S+
5. The probability of such a number divisible &I & S 9 9IST 24 I ITlerepdr 2:
by 3 is: (A) 1/5 (B) 4/5
(A) 1/5 (B) 4/5 (C) 5/9 (D) 3/9
(C) 5/9 (D) 3/9
8-AA | [71] | P.T.O.
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028. LAN stands for. the following: 028. LAN oI Hdoid 2|
(A) Limited Area Network (A) Hifra & Jeas
(B) Logical Area Network (B) Wifsehel TRAT H2ah
(C) Local Area Network (C) wrhd Ui Jedeh
(D) Large Area Network (D) ST & Jah
029. Hardware or software designed to guard | (29, Ei;t:qog{q'{ 3F|ﬁ|cbr| qéﬂ g s=Td o fou fesmea
against unauthorized access to a computer fopaT T BIESR AT A% ddeh &I fhg
network is known as : €9 T STET SI0dT 2:
(A) Hacker-proof program. (A) B TH SIPIE]
(B) Firewall (B) ®IEE@
(C) Hacker-resistant server (C) ot et gt
(D) Encryption safe wall. (D) wfsheH gifera dam
030. Which of the following does not store data | 030, fr=fafga 3 8 &4 2o & w9 9 9Ugd
permanently? &l T 2
(A) ROM (B) RAM (A) ROM (B) RAM
(C) Floppy Disk (D) Hard Disk (C) Tt fezr (D) w1E fem=
031. The speed of modem is measured in: 031. Hi=g I Tfg grdt AT 8|
(A) Gbps (B) Tbps (A) Seffleg (B)  deidied
(C) Kbps (D) Pbps (C) eheltdiug (D) deidiue
032. URL stands for: 032. IS HT 319 7|
(A) Uniform Research Limited (A) It fad fafies
(B) Uniform Resource Locator (B) q\ﬁrq—ﬁﬁ e orehex
(C) Uniline Resource Labs (C) Fferrs fard oo
(D) Uniform Research Locator (D) {Erq-ﬁﬁ EE R T
8-AA | [8] [ Contd...
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033. E-commerce, e-learning, e-banking, | 033, 3-+MH, 3-BMHT, S-dfHT, TH-HHEH &)
m-commerce are some of the (A) 3-gfdas

K]

(A) e-services

=
:

(B) Internet services

(C) User services (D) STYR HaTd
(D) Business services

S
e

i
*
2

034. GPRS is used in mobile phones for 034. WSS BT H SHISTREE Y07 il 2
(A) Data communication (A) ST =91 & fou
(B) Voice communication (B) &af¥ ¥R & fau
(C) Send SMS (C) THUATE 9o & fau
(D) None of the above (D) 3uded 4 & i a1

035. Broadband is a convergence technology for 035. siieds 14ETor YrRNfEh 21

(A) Voice, data and video (A) & grer 3R difean
(B) Only data (B) whadl ST

(C) Only voice (C) whae eafd

(D) Only video (D) hadt difsar

036. What is decimal value of binary number | ¢36. T O 10100101, =T IHSE AT o1

10100101, 21T
(A) 165 (B) 155 (A) 165 (B) 155
(C) 004 (D) 124 (C) 004 (D) 124

037. The result of binary division 00101010 = | ¢37. WOU]U]U]U+OUOUOIIOWWW€F‘HI

00000110 is: (A) 00000111  (B) 01000111

(A) 00000111  (B) 01000111 (C) 00100111 (D) 00010111
(C) 00100111 (D) 00010111

8-AA | [9] | P.T.O.
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% 038. The drawing in whlcfh the view isdrawn atan | (38, <7 g7 fSa9 2% 30° 3 150° % F0T |
EE:% angle 30° and 150° is called : @i ST 2
E (A) Auxiliary view (A) HERF 339
':E:: (B) Front vi.ew. (B) HTH 1 g
% (C) Isnmetrlr.: we'tv (C) gufada gea
%:% (D) Perspective view (D) ufeies
039. The model which is created by using basic | 39, 2@ =THEl i gﬁaﬁ[ HEATIT BT ITANT hich
entities of two dimensioning is called: ST S Il Higd hadrdl 2|
(A) Surface model (A) Y AisA
(B) Wire frame model (B) dRR %H Hisd
(C) Solid model (C) 39 Higd
(D) Isometric model (D) AEM{H Al
040. For a Whitworth external thread, the distance | 040, fegeas s Je & fou, S 3it e =
between the crest and root (d) when pitch (p) &+ 3;& (d) 59 =1 (p) grr < ST 2:
is given by: (A) d=0.75p (B) d=05p
(A) d=0.75p (B) d=05p (C) d=061p (D) d=0.64p
(C) d=061p (D) d=0.64p
041. If a nut, when turned in clockwise direction | 041, Ife Uk 9¢ I Jd Ueh dice I FAThaS e
screws on a bolt, the thread i1s a left-hand pa | YHTET ST 2, a1 9% I 9 a8 US "M
thread, this statement is: STl 8, T8 hAA
(A) True (A) T 2
(B) False (B) Teid 8
(C) Cannot be decided (C) vt 4 foman 511 wepar 3
(D) None of the above (D) 39UFd | & I3 A8l
042.  For a dc shunt motor of 5 kW, running at | (42. 5 ferciare i €t wie @, St 1000 rpm ®
1000 rpm, the induced torque will be: = @l 7, a1 SR 2reh g
(A) 47.76 N (B) 57.776N (A) 47.76 N (B) 57.76N
(C) 35.76 N (D) 3776 N (C) 35.76 N (D) 37.76N
8-AA | [10] [ Contd...
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043. A current of 5A flows in a resistor of | 043, 3fe SA i 4 &1 99E Th 2 37H & Th
2 ohms. Calculate the energy dissipated in ey o w=dt & a1 Waee § 300 9% ®
300 seconds in the resistor. ferafea st bt ToET HL)
(A) 15KkJ (B)  15000kJ (A) 15kJ (B)  15000kJ
(C) 1500J (D) 15J (C) 1500J (D) 15]
044. Calculate the work done in a resistor of | 044, =fe 20 378y & Us WX & SA I 9w I
20 ohm carrying SA of current in 3 hours. YT 3 | b &A1 & df fohan A1 i fehdl
(A) 1.5] (B) 15] Ll
(A) 1.5] (B) 15J
(C) 1.5kWh (D) 15kWh (C) 1.5kWh (D)  15kWh
045. Earthing is required for protection from | 045, 31f3f fopm 2w @ UieawH & foiu savas 2|
which defect? (A) dlees | qfigdd
(A) Change in voltage (B) 3T/ SAifen
(B) Over loading (C) foerd sreehl @ @
(C) Danger from electric shock (D) HeFel & 359 d9
(D) High temperature in conductor
046. Which alternator has the least speed: 046. TopE 3Teeet &I e Tod +H Bidl 2
(A) alternator coupled with hydraulic (A) BISSIfedeh TETEA o T Heg el
turbine (B) T 399 6 ATY HYeg Al
(B) alternator coupled with steam engine (C) T TERA & O1Y $cg ecidel
(C) alternator coupled with steam turbine (D) 3I9ed H H g T4l
(D) None of the above
047. The efficiency of thermal power plant | 047. 9dc UiaX oTie shl 2&dT sedl &:
increases by: (A) A AT T BT & B T
(A) burning more quantity of coal (B) T <h! AT 3Afeeh T Hid W
(B) Using excessive amount of water (C) AR W YR &l A W
(C) Reducing the load on the plant (D) 919 1 I=d ¢80 T Hd T
(D) Using steam at high pressure
8-AA | [ 11 ] | P.T.O.
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048. If the frequency of the emf generated by an | 048, =fe 3000 rpm W qRyH T @ Uch el
alternator revolving at 3000 rpm is 50 Hz, g1 3c99 emf hi 31mafd 50 Hz &, df gai <l
what will be the number of poles? T T B
(A) 8 (B) 6 (A) 8 (B) 6
(C) 4 (D) 2 (C) 4 (D) 2
049. If a dc class motor is connected to the ac | 049, uf2 T dc Soft & T FY ac TATE T AT
supply then: IERIRSIC I CE
(A) the motor will not start (A) A1 e T8l arfi
(B) The motor will start but stop immediately (B) HIeT WIS & St LS| gid &h SATaTl
(C) The motor will start but will not work (C) A1 LI gl STt S| gdSsT H
satisfactorily &1 il
(D) None of the above (D) 39Uk § & hig Tal
050. The single-phase motor has a characteristic 050. TETeT © HIeT 1 Teh Afeqo 8-
(A) It does not start automatically (A) I8 Td: TIE &1 BIdl
(B) It starts automatically (B) I8 T&d: T Bidl 8
(C) It requires only one winding (C) 38H o U faf=e Fi 3mavaehdr g &
(D) It can rotate in one direction only (D) I8 shadl Ueh o3 | Tee o Tohdl &
051. The percentage of carbon in cast iron is: 051. @dAdT A2 § e I Ifqerd JET &dl 8:
(A) 0% (A) 0%
(B) less than 1% (B) 1% 9 &1
(C) less than 2% (C) 2% T &1
(D) More than 2% (D) 2% ° SITET
052.  Which of the following ferrous material is | 052. e wet § f=fafga § @ w9 @1 e
made in cupola furnace: ST ST4T &':
(A) Pig Iron (A) o s
(B) Cast Iron (B) @idT ATEl
(C) Wrought Iron (C) fuear «ran
(D) Steel (D) =9I
8-AA | [12] | Contd...
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053. Which material is used for making Bicycle | ¢53. s mefiea B & urzg 5 gard @ 999 94
frames? 87
(A) Hot rolled steel (A) B Ueg 394
(B) Cold rolled steel (B) 38T Ues 3T
(C) forged steel (C) HIeis LU
(D) Cast steel (D) @ctdTl ¥
054. The nichrome used i heating element is | 54, &fdm uferde d JI<h ATSshIA S dcdl ol TATY
alloy of following: 2
(A) nickel & copper (A) Tepa 9 dmen
(B) nickel & magnese (B) e 9 S
(C) nickel & chromium (C) Tepet 9 IftEw
(D) chromium & magnese (D) HifEw 9 TS
055. The wire used in soldering is alloy of: 055. dicsiord Th dRIY forgent TA B:
(A) lead and tin (A) Hrar g feq
(B) lead and copper (B) @1 g qren
(C) tin and copper (C) fea T dmen
(D) lead and antimony (D) HiEm g wdmt
056. In gas welding the maximum flame | 056, 75 IfeeT § feEray AT A9EHE B4T &
temperature is at: (A) 3Tafes E'IER 0T
(A) inner cone (B) SdTedl & W
(B) tip of flame (C) TR I[P h 3Ih aTaT
(C) next to inner cone (D) =& 9 R
(D) at the outer cone
057. Which material has highest shrinkage | ¢g57. = & @ f5g 9 Iq 1 Oehaq A3 31feeh
allowance: RIS
(A) Lead (B) Steel (A) == (B) &I
(C) Aluminium (D) castiron (C) TegHifem (D) eoan dmal
8-AA | [13] | P.T.O.

-
4
L

)

Dt

i
*
K

gcollegeduniaﬁ

]



L7
)
L)
A%

el

058. In lathe operations, in which operation the | ¢s58., @te W = afsraret o foram o9 ot =ma
cutting speed is kept minimum: i Frdt 2l
(A) Thread cutting (B) Taper turning (A) a;ﬁ held (B) 2R {7
(C) Normal turning (D) Knurling (C) 9= @UeH (D) et
059. Speed of sound wave in air 059. dY 4 eaf4 &bl 9@ <l =91
(A) is independent of temperature. (A) a9 R [ 98 =l
(B) increases with pressure. (B) 29 % H1Y ¥gdl 8l
(C) increases with increase in humidity (C) JTEdT de+ o dgdl 2
(D) decreases with increase in humidity. (D) ATgdT g4 | =l &l
060. Ahemisphereisuniformly charged positively. | (060, @Ig T THEF AR 21 TS & e
The electric field at a point on a diameter o 9 39 fopel = 9T feorg ﬁ-—g W ST oheg
away from the centre is directed H g g, faga &3 Fi fam
(A) perpendicular to the diameter (A) 39 I & Sredd &
(B) parallel to the diameter (B) 39 =IT9 % HHI-N &
(C) at an angle tilted towards the diameter (C) 38 =™ 1 3T frefl T w g =l
(D) atan angle tilted away from the diameter. (D) 39 =99 § L fopeht o o gl 3|
061. [Equipotentials at a great distance from a | ¢¢1. EE) 37T o Teh HHE hl ol I N ERild
collection of charges whose total sum is not =Y 37fereh alf'[ W §44 91 gafaya I8 Hitl
zero are approximately (A) T (B) 9HdA
(A) spheres (B) planes (C) WIATS (D) Ereigas
(C) paraboloids (D) ellipsoids
062. In aregion of constant potential 062. Ti=a faya o fopeft yeor @
(A) the electric field is uniform (A) Taea &= vhaaE g 2|
(B) the electric field 1s zero (B) f&gd & NG giaT 2|
(C) there can be no charge outside the (C) T<I o T8l ohis 3TAY &l & Tehdll
region. (D) IS AT U & T feorq 7 a1 79w
(D) the electric field shall necessarily change gfEfda grm|
if a charge is placed outside the region.
8-AA | [14] [ Contd...
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063. If a conductor has a potential V#0 and there | (63, =fg foreht = 1 fawa V40 8 1 30 B '.!'
are no charges anywhere else outside, then O 9 Tl Wl B A T&l 8, a9 %
(A) there must be charges on the surface or (A) =T U538 T 9ok Wiaw a9 24 E:é:‘
inside itself. =1fgu| %
(B) there must be charges only on the (B) hdd AT I8 W g Py B E;ii
e
surface. Sl A

(C) there must be charges inside the surface. (C) =A% P % i W & ey 84

(D) None of the above =1fgu|

(D) 38 ¥ s i T8

064. A piece of wood having no vessels (trachea) | (64, <18 %1 TH THST oo anfgerre T81 Bt 3,

must be belong to Iz fFafofaa 9 fraa gefaa 27
(A) Teak (B) Mango (A) & (B) M
(C) Pine (D) Palm (C) g (D) 9™

065. Whichone ofthe followingisnota connective | 065, fi=fefEa & & S th SIS Hds T8 27

tissue? (A) 3T1ee (B) 3uifey
(A) Bone (B) Cartilage (C) T (D) sft
(C) Blood (D) Muscles

066. Which metal ion is a constituent of | gg6. =HIH-TI #q ST FAU IR S hl Teh Uoh & 7
chlorophyll? (A) 3T&H (B) <hIW
(A) Iron (B)  Copper (C) #rfifsrm (D) ok
(C) Magnesium (D) Zinc

067. One of the following is not a common | ¢¢7. fA=fefE@a & O =9-a1 9r =9 a3 3

disorder associated with digestive system geiferd &l 87
(A) Tetanus (B) Diarrhoea (A) Ty (B) @&
(C) Jaundice (D) Dysentery (C) diferan (D) uferw
8-AA | [15] | P.T.O.
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068. Itis known that exposure to carbon monoxide | 068, =g fafeq 8 fo6 A A-IsTTFaREE *1 TIORT
is harmful to animals because: O gIHTE BT & Fl(h
(A) It reduces CO, transport (A) 9 Eh‘r{UTCOE‘IIﬁEIE:[ Y B SaT &
(B) Itreduces O, transport (B) 39 HNU O, IREe %A & FMdl 2|
(C) Itincreases CO, transport (C) Heh HIU CO, giaed &g Il &l
(D) It destroys hemoglobin (D) 3Heh IVl SETAIST A5 B AT 2
069. The following substances are the excretory | 069. fi=ifafEd gered urfori o Icasi 3care 21 =0
products in animals. Choose the least toxic o "oy %y Afawie gered i)
form among them? (A) IfEm (B) ik 37
(A) Urea (B)  Uric acid (C) Immr=T (D) hTe ST3-ATFITES
(C) Ammonia (D) Carbon dioxide
070. Knee joint and elbow joints are examples of | (70. gzm_;iﬁ:[ 3T higA-gfer fora s 1 |fY
(A) Saddle joint o ICE 27
(B) Ball and socket joint (A) Hea gfg
(C) Pivot joint (B) ahgeh-Wieareh &Y
(D) Hinge joint (C) gt =fy
(D) heall Gy
071. Two cells of emf’s approximately 5V and | g71. sy qur 10V &S emf 3l S hi qos T
10V are to be accurately compared using a qﬁ:{]ﬂﬂ &9 A 400cm ST % faveard g
potentiometer of length 400 cm. 1511 2
A) The battery that runs the potentiometer
v should hav}w.i: voltage of 8\;} (£)" BB "6 S Sl e
(B) The battery of potentiometer can have dllee 8V & e
a voltage of 15V and R adjusted so (B) fasammdt 1 dreedt 15V &1 Fohdl 2 AR
that the potential drop across the wire 1 0 YT FHTAI L Hehd & foh dR
slightly exceeds 10V, & T W faveama 10V @ efrer sifuss =8|
(C) The first portion of 50 cm of wire itself (C) &I 91 & 98 50 cm WM W favema
should have a potential drop of 10V. 10V BT =TfEU]|
(D) Potentiometer is wusually wused for (D) Tayanrdt &1 3w yr: afed e
comparing resistances and not voltages. ¥ fou e sman 2, favat % R =8
8-AA | [16 ] [ Contd...
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072. An electron is projected with uniform | 72, ue sSae i forel Feelt errardr afemfos
velocity along the axis of a current carrying *F 3T F 343-&5, THEHE O & gefud fepa
long solenoid. Which of the following is true? ST 2 Prefef@a § 9 91 yeed g 27
(A) l:eaii::tmn will be accelerated along (A) SO e 3]3&51 =t F
(B) The electron path will be circular about [B) SWAIHR: el DR L
e aocli (C) SAFH 318 H 45° W &a 39
(C) The electron will experience a force HT 3T T4 THR W W T
at 45° to the axis and hence execute a 4TI
helical path. (D) SoiggA ufEferst & 31 & ofew
(D) The electron will continue to move with THTHAM a7 8 7fd SHidr &)
uniform velocity along the axis of the
solenoid.
073. The primary origin(s) of magnetism lies in 073. TrIhcd 1 I 3¢9d U 2|
(A) intrinsic spin of electron. (A) SAFEH T 4 ThUT
(B) Pauli exclusion principle. (B) 9r3eft-3T9asia ﬁ:@uﬁ
(C) polar nature of molecules (C) 317 &$ g?ﬂa ;@ﬁ,
(D) None of the above (D) AH § i Tal
074.  The self inductance L of a solenoid of length | ¢74. freft HIES e F 9% 4 997 e wO
[ and area of crosssection A, with a fixed &l &I N Tl | S8 hl GRATIART
number of turns N increases as UEhcd [ & STl B
(A) /and A increase. (A) [TdATAH qgﬁa & 1Y
(B) [decreases and A increases. (B) [H wHIqaTAH ggﬁa % 919
(C) [increases and A decreases. (C) zagﬁmen AT &H & 919,
(D) both I and A decrease (D) [9AT AH HHI & T
075.  If the rms current in a 50 Hz ac circuit 1s 5A, | 75, 9f2 50 gl ac IRUY | 5A &l rms 9T JaTfad
the value of the current 1/300 seconds after 3 T8, d grr giET NG 2 % 1/300
its value becomes zero is Yehe TIHTd S8 919 BT
(A) 5V2A  (B) 5vV312A A) 5VZA  (B) 54/312A
(C) 5/6 A (D) 5/V/2A (C) 5/6 A D) 5//2A
8-AA | [17 ] | P.T.O.
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076. The output of a step-down transformer is | (76, forelt sro=mfl glawrR = fofm 12w T
measured to be 24 V when connected to a dod I GAISd FE I 24 V HYT AT 2]
12 watt light bulb. The value of the peak fSrET o1 1 9H &
current is (A) 1/V2A. (B) 2A.
(A) 1/V2A. (B) 2A. C) V2A. (D) 242 A.
(C) V2A. (D) 242 A.
077. The source of electromagnetic waves can be | ¢77. ﬁgdgl.qq':]q TUN oh1 Hid B Hohdl & his
a charge CICH
(A) moving with a constant velocity. (A) T f9Fa a1 @ 9 @1 3|
(B) moving in a circular orbit. (B) 1 QT-ﬁ'q S § 9 &I &8
(C) at rest. (C) St fermmraen o 2|
(D) none of the above (D) 9 ® =l &l
078. A short pulse of white light is incident from | 78, 3@ Yebre1 =1 U &Y e 9 ¥ &g &
air to a glass slab at normal incidence. After Teh T3 [ oredd 3T9fdd gidl gl e 9
travelling through the slab, the first colour to ﬂaﬁ * g, g8 Yo fiid B9 91T 9
emerge is =il
(A) blue (B) green (A) e (B) B
(C) violet (D) red (C) ot (D) T
079. An object approaches a convergent lens from | ¢79, Teh forar fepelt a1faram &9 o o 3T F 5 m/s
the left of the lens with a uniform speed 5 m/s F1 THEAH IS U ITTHA HAT & 3 Blhd
and stops at the focus. The image T TR B 1T 2| fdfere
(A) moves away from the lens with a (A) 5 m/s I THEAE I § ©F § g M
uniform speed 5 m/s. T 2
(B) moves away from the lens with a (B) THTHE a0 4 &9 o agwﬁram—n%
uniform accleration. (C) ITEH o0 & 9 § & TTfd T 2l
(C) moves away from the lens with a non- (D) TTHM U § o hl 3T TIfd T 2l
uniform acceleration.
(D) moves towards the lens with a non-
uniform acceleration
8-AA | [18 ] [ Contd...
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080. Heavy stable nucle have more neutrons than | g9, worft 9l Tifirri & =T it Fe el &
protons. This is because of the fact that 31ferep BIdl 2| SHh] 0T IE 2 T
(A) neutrons are heavier than protons. (A) =IgH grer | Aferss 9t B &
(B) electrostatic force between protons are (B) ﬁgﬁ%aﬁaﬁéﬁﬁgﬁaﬁgﬁm&mm
repulsive. RIS
(C) neutrons decay into protons through (C) pfaues grr =gia Wt o faafeq &
beta decay. I 2
(D) nuclear forces between neutrons are (D) =IHI & st AR aa e & =
weaker than that between protons. TR o 1 2T9a géa HGI
081. Hole is 081. B> &Il &
(A) an anti-particle of electron. (A) SAFE T IfcehuT |
(B) a vacancy created when an electron (B) TEEAMSH 3T€Y ¥ Th 3o [ feseeh
leaves a covalent bond. I T 39— Tl
(C) absence of free electrons. (C) Herd AT hl agq‘f@]ﬁl
(D) an artifically created particle. (D) T'ﬁq 9 Y {17:11{;1 g |
082. A male voice after modulation-transmission | (82, U® &y h! aroft, n@?ﬁw g YT % 939,
sounds like that of a female to the receiver. 7Tl Sl AfgeT i aroft <t wifd gamg <t (St
The problem is due to EIdiT) B1 ST BRI 8-
(A) poor selection of modulation index (A) IT{Iged HIgH {-Lﬂq}im HIFAE(0<m
(selected0<m<1) < [ A1 1)
(B) poor bandwidth selection of amplifiers. (B) Agaehi & U AT dUg HIeTs &
(C) poor selection of carrier frequency T
(D) loss of energy in transmission. (C) a8k qat <hi 3“%{{1 1 IT{Iged TG
(D) T § 3ett-gifa
083. The mean length of an object is 5 cm. Which | (83, fereft fig <t 3faa @ 5 cm 8| F=fefad
of the following measurements 1s most H IH-HT {19 Faiiereh J21d 27
accurate? (A) 4.9 cm (B) 4.805cm
(A) 49 cm (B) 4.805cm (C) 5.25cm (D) 5.4cm
(C) 5.25cm (D) 5.4 cm
8-AA | [19'] | P.T.O.
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084. A lift is coming from 8th floor and is just | 084, us fowe smad dfve 4 99 o @ & 3K
about to reach 4th floor. Taking ground floor el 9fees ¥ Elg?ﬁ aret 8| afe aft uferi =
as origin and positive direction upwards for fou YIS &l % ﬁg TAT S T 37T gqTcHh
all quantities, which one of the following is feon & a1 ffofaa @ < @8t 27
correct? (A) x<0,v<0,a>0
(A) x<0,v<0,a>0 (B) x>0,v<0,a<0
(B) x>0,v<0,a<0 (C) x>0,v<0,a>0
(C) x>0,v<0,a>0 (D) x>0,v>0,a<0
(D) x>0,v>0,a<0

085. Atametro station, a girl walks up a stationary | (085, fepElt A2l TWIF W HiT Sghl Tk Feh Ry
escalator in time t,. If she remains stationary TEhoiel T t, e § W dedl gl Ife I8
on the escalator, then the escalator takes her TEhoiel W @l 1§ a1 Tehaidd 34 t, Uehe A
up in time t,. The time taken by her to walk IR & AT 2| I 98 Iad g ﬁz{ 0T
up on the moving escalator will be U g TTfd & & SR TS 1 3Tl HW
(A) (t;+5)2  (B) tt/(t—t) GgeH H S JTA 99 2T
©) {1+ D) -t (A) (t;+,)2  (B) t t/(ty-t))

C) i t/(t,+t) (D) t-t,

086. It is found that |A+B| = |A|. This necessarily | 08¢. I 9r=m T 2 f% IA+B| = |A| d9 ELaEe|
implies, AMara: I8 wafq Bt & T
(A) B=0 (A) B=0
(B) A,B are antiparallel (B) A, B yfd o9 2
(C) A,B are perpendicular (C) A, Bdaadq 2l
(D) AB<0 (D) AB<0

087. A mass of 5 kg is moving along a circular | g87. 5 kg GeIHM Bl Teh fileimbBsns JeTeh X
path of radius 1 m. If the mass moves with 9y X TTfae 21 gfe I8 fue ufa fie 300
300 revolutions per minute, its kinetic energy TR BT &1 1 39k TTfasl oIl gt
would be (A) 250 12 (B) 100 7
(A) 250 n2 (B) 100 n? (C) 52 (D) 0
(C) Sme (D) 0

8-AA | [20] [ Contd...
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088. A copperandasteel wire of the same diameter | 088, T =ITH % HIW U5 TS & aRl &I R o
are connected end to end. A deforming force fou free Ster T 81 39 ggqﬂ R 9 s
F is applied to this composite wire which foegs 9@ F U e Sar 2 & &4
causes a total elongation of lem. The two lem sl e gfY T a1 81§ a1 aii H-
wires will have: (A) gu gfdera gl & td fafi= faspfaa
(A) the same stress but different strain (B) faftr=r ufdeet sar 21
(B) different stress (C) TmM fawfa Bt B
(C) same strain (D) 39ad d § Hig 78|
(D) None of the above
089. With increase in temperature, the viscosity of | 989. a9 aaf{ L°E )
(A) gases and liquid decreases. (A) T 3T gai shl T el Bl
(B) liquids and gas increases. (B) zdi 3R TG shl IIEdT ogdl &l
(C) gases increase and liquid decreases. (C) T} <hl JIFaT dgdl & 3T Zai shl IIHd]
(D) liquids decrease and gas increases. ged! B
(D) Zal <l TIHar el 8 37 Ei 1 I
sigd! 2l
090.  Which of the following statements about the | 090, sSaeia & Hed ¥ Ffafgd ¥ & HHE-T
electron is incorrect? FH TSd 8 7
(A) Itis a negatively charged particle. (A) I8 RUEf3E 1 2 2l
(B) The mass of electron is equal to the mass (B) 5g¢§1.1 &1 gIHM .e&‘i'.i + g %
of neutron. S BT 2|
(C) Itis a basic constituent of all atoms. (C) 3 a4 qrq‘rgaﬁ EIR GRCERE grdl 2l
(D) Itis a constituent of cathode rays. (D) I here Tohul &1 3a3d BT 2|
091. Which of the following have no unit? 091. Trafefea # @ fraeht I 3rE 72 Bt 87
(A) Electronegativity (A) fogga =urmenehal
(B) Electron gain enthalpy (B) Soideid oifed Ty
(C) Ionisation enthalpy (C) 3T Tt
(D) None of the above (D) I9ed § H IS A8l
8-AA | [21] | P.T.O.
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092. A person living in Shimla observed that | ¢92. fsmeT 4 @4 I Uch fFd = STTBhA TRl
cooking food without wusing pressure fop form SR et o1 s foRT WisH 9o |
cooker takes more time. The reason for this fYh U SAT 2| 3° AdBIhT okl HRU
observation is that at high altitude: g 2 Top T9E 910 TIHT W
(A) pressure increases (A) T 9&dl 8
(B) temperature decreases (B) 919 ©edl 8
(C) pressure decreases (C) <& 92dT &

(D) temperature increases (D) 9 9l &

093.  Which of the following property of water can | (93, gui &I gi &1 MA ATHR THAH & 3T T
be used to explain the spherical shape of rain & fAefafga 5 3 g 07 R 39T feRaT =
droplets? Tehl & 7
(A) viscosity (A) TFET
(B) surface tension (B) U3 dATd
(C) critical phenomena (C) shifdeh qitereT
(D) pressure (D) <

094. At a particular temperature and atmospheric | 094, U fa9 a9 3 IFAEHT TE@ W YU
pressure, the solid and liquid phases of a pure gered &l 319 qAT 29 TS 9 § gl Hehdl
substance can exist in equilibrium. Which of 2| 39 d19 ! T Had &7
the following term defines this temperature? (A) |THT T 91 fEameh
(A) Normal melting point or Freezing point (B) =T A
(B) Equilibrium temperature (C) FEYTh
(C) Boiling point (D) 39 | HIs &I
(D) None of the above

095. Hydrogen peroxide is: 095. EISSIS WSS a-

(A) an oxidising agent (A) 3TTFIIRTTT HHh
(B) areducing agent (B) 9= HHh
(C) both an oxidising and a reducing agent (C) ITTFERTUT SHHeh dAT 3TY=I FHb il
(D) neither oxidising nor reducing agent (D) 7 a1 TRl ShHeh 3T T & 3T9=REA
E2iE
8-AA | [22] [ Contd...
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096. By adding gypsum to cement 096. Ho= # oy fiom 3-
(A) setting time of cement becomes less. (A) HiHe 3GET THT gl ST 7|
(B) setting time of cement increases. (B) HiHe 3geH THI &¢ STl =
(C) colour of cement becomes light. (C) HHe T T 8AHT & JTdT 2
(D) shining surface 1s obtained (D) Is3 <hl U1 99k 4T 2|

097. Dryiceis 097. I T B-
(A) Solid NH, (A) 3 NH,
(B) Solid SO, (B) aﬁ'{:rsoz
(C) Solid CO, (C) 3™ CO,
(D) Solid N, (D) 3™ N,

098. Quartz is extensively used as a piezoelectric | (98. TS H qu&%ﬂ_\ g9+ o fou ERGIRE i
material, because it contains the following: 3TN BT & Flehl $H THHfoiiad gl &l
(A) Pb (B) Si (A) Pb (B) Si
(C) Ti (D) Sn (C) Ti (D) Sn

099. Which of the following gases is not a green | ¢99. fi=fefEagd g wH-d1 g G g g 87
house gas? (A) CO (B) Oy
(A) CO (B) Oj (C) CH, (D) H,0drH
(C) CHy (D) H,O vapour

100. Sewage containing organic waste should | 100. 39 3l e qifgdas 1 fAueq SamemEi
not be disposed in water bodies because it o T8 foear s =fEe w=ifes tEr @
causes major water pollution. Fishes in such AU F TGN 3T~ BIdT 3l UH Wgfa
a polluted water die because of S5 U AS{SAl & T R hIUT 2-
(A) Large number of mosquitoes. (A) 9 T& H g=at
(B) Increase in the amount of dissolved (B) S ¥ focfta siferfism <t amm 4 g9gfw

oxygen. (C) 5 | faefia stfedis bt g § ot
(C) Decrease in the amount of dissolved (D) hiTs g gSelt & Tl & g%y gl
oxygen in water. <ieil

(D) Cloggingof gills by mud.

8-AA | [23] | P.T.O.
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